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e :
Note :
1. (1)
(i1)
(iii)
(iv)
(v)
2. ()

[Maximum Marks : 70

(i) X T T 8, 19 7 & Tl 9ia & 3m g
Question No. I is compulsory, answer any FIVE questions from the remaining.
(i) ¥ 399 & GYi YT %1 FHHEGR TF Gre g7 Fard |
Solve all parts of a question consecutively together.
(iii) FF F¥7 Bl 79 98 G I B |
Start each question on fresh page.
(iv) I 91973 8§ 31~ §17 &1 1T 7 s sgae = 2 1

Only English version is valid in case of difference in both the languages.

14 wiceaT 1 wwese |
Explain work sampling.
I B! g SHifse |

Define standardization.

urt Frgtor it wogmse |

Explain routing.

IR T EATR ?

What is obsolescence ?

IEATCH T IJeuTgahall H e Ty g |

Differentiate between production & productivity. (2x5)

FHEIGA HI TR AT aon Igent FHTad S 916t SR &1 AR |

Define scheduling & explain various factors affecting it.
(10of 4) P.T.0.
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(i) foreht Wisiae o Tore Fifera faamor femman 7
o o fedt &
i-j | AR To | Afaewfa Tm | Fremar Tp
7-5 3 5 13
7-6 1 2 15
5-4 6 ?[ 7 8
5-3 2 E 4 12
6-4 2 5 14
4-2 4 6 8
4-3 5 9 13
2-1 1 , 2 3
3-1 1 ! 4 7
(a) VISR ITTH FA15L
(b) FHifas 9 FTd HIfAT |
(c) WIS guamafe 61 T S |
For a project following data’s are given :
Activity ' Duration in days
i—j Optimistic Most likely Pessimistic
Time To Time Tm Time Tp
7-5 3 5 13
7-6 I 2 15
5-4 6 7 5
5-3 2 4 12
6-4 2 | 5 14 |
4-2 4 6 8
4-3 5 . 9 13
2-1 1 | 2 3
3-1 1 4 7
(a) Draw project network
(b) Find critical path
(c) Calculate project duration (6+6)

3. (i) Toraewft e amn & foe g3 wifya $ifsa)

Derive formula for economic ordering quantity.
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(i) ¥SR & T arf) Y ST 1 20 TS Sfded B 1 3w 7 e WIed B W @ra
% 40 % | afe wfa 31 @ T 100 Fn v gt 98w e wha 99 16% & 9Un 38

(ii)

afted ©iw o ol sl § 1 g il
(a) Toeemeft el uman |

(b) F1 I Gt T
(c) IR 37ra 7w 3 umR B A O 3T farg v i |

Annual consumption rate of an item from store is 20 units. Procurement cost is
T 40. If the cost per piece is ¥ 100 & inventory carrying cost is 16% per year & it

depends on average stock, find out :

(a) Economic ordering quantity

(b) Total inventory cost

(c) Iflead time is 3 month then find out re-order point

Wit I A T 1 TOAT HIFT -

Qeqont <l F&F T — 2500

TSI egur Y G — 2100

100 g92 & 3rafey d Iaqrfea 1 i @@ — 6000
siftrep! W1 31U - 2/3

T - 1/3

Sf¥ra i OIS (Rating Factor) = 115%
YHT= 9 &1 8999 92 = 12%

Calculate standard time per piece :

No. of observations = 2500

No. of working observations = 2100

No. of units produced in 100 Hrs = 6000
Ratio of labours = 2/3

Ratio of machine = 1/3

Observed rating factor = 115%

Time allowance of normal time = 12%

WHa g3fia 912 1 9 HIFFT a9 39 Igifiar ausmee |

Explain Man machine chart & its importance.

T & I T3 o] NI S 916 Heh1 ! o] 8§ g9y |

Explain in detail the factors affecting the site selection of a plant.
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(ii) Teh SUSFRHe @ it IR & 2 2,00,000 @& 20 9§ IS SHHT HIIY o
220,000 % | AR FH1 10 7 7= 2 1,435,000 F =1 o0 1 anifen vy e
S%Wﬁgqﬁéqﬁﬁ:qﬁgraﬁﬁ:ﬁwgm%ﬁ;wmmmﬁgﬁ |
An industrial plant with initial cost of T 2,00,000 & the salvage value of T 20,000

at the end or 20 years was sold for ¥ 1.45,000 at the end of 10 years. What is the

profit or loss if sinking fund depreciation method at 8% compounded annually
was adopted ? (6+6)

() v ol ) gera & B 990 T 99 veida 6 sRyvre # ansmse |

With the help of neat sketches explain working of screw conveyer & bucket
elevator.

(i) TTER fafY @ = Fifsr -
ffermarftetor Z=3x +?_xz

1

yfaay 2, —-x,22
X, +2x, <8
X,x,20
Solve the following by graphical method :
Maximize z=3x, + 2x,
Subject to 2, -x,22
x; +2x, <8
X, %20 (6+6)

(i) i foram wehr & &9 2 7 foam A amgmEn |
What are the types of inspection ? Explain in detail.
(i) el Sfae aemT aon el wfa v e 5 gy |

Explain single sampling plan & double sampling plan. (6+6)

e o 9 foredi ofimr o ity feroqoft R
Write the short notes on any three of the following :
(i) sEHEE
SIMO Chart
(i) X-R=R
X -R Chart
(ii)) W8 3w
Flow Diagram
(iv) e
Gantt Chart (4x3)
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